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CHAPTER TEST - 3

BIO-BOTANY
Std / Dept : 12
Time Allowed : 40 MIN Max. Marks : 20
MULTIPLE CHOICE QUESTION 5§*1=5
1. An allohexaploidy contains
a ) Six different genomes b ) Six copies of three different genomes

¢ ) Two copies of three different'genomes  d ) Six copies of one genome

2. Due to incomplete linkagedn maize, the ratio of parental and recombinants are
a)50:50 b)7:1:1:7 ¢)96.4:3.6 d)1:7:7:1

3.  Which of the following sentences are correct?
1. The offspring exhibit only parental’combinations due to incomplete linkage.
2. The linked genes exhibit some crossing over in complete linkage.
3. The separation of two linked genes are possible in incomplete linkage.
4. Crossing over is absentin complete linkage:

a)1 and 2 b)2and3 c) 3and4 d).1 and 4
4. Changing the codon AGC to AGA represents

a ) missense mutation b ) nonsense mutation

¢ ) frameshift mutation d ) deletion mutation

5. Assertion (A) : Gamma rays are generally use to induce mutation inwheat
varieties.
Reason (R) : Because they carry lower energy to non-ionize electrons from atom.
a) A is correct. R is correct explanation of A.
b )-A’is correct. R'is not correct explanation of A.
¢) A is correct. R is wrong explanation of A.

d) A and R is wrong.
VERY SHORT ANSWER 2*2=4
6. Drawthe diagram of different types of aneuploidy.
7 = Do B et
From the above figure-identify the type of mutation and explain it.
SHORT ANSWER 2*3=6

8. Whatis gene mapping? Write'its uses.
9. Write thesalient features of Sutton and Boveri concept.
LONG ANSWER 1*5=5

10. How sex is determined in monoecious plants. write their genes involved in it.
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